Chapter 12 - Job-Order, Process, and Hybrid Costing Systems

Exercise 12-1A  No check figure

Exercise 12-2A  No check figure

Exercise 12-3A  No check figure

Exercise 12-4A  No check figure
Exercise 12-5A
a.
Ending balance of finished goods : $22,810
b.
Desired Price: $27,372
Exercise 12-6A

a. & b. Net income:   $5,860
c.
$9,860
Exercise 12-7A  Income = $22,500 

Exercise 12-8A  Cost of raw materials = $267,000
Exercise 12-9A

Cost of goods sold : $63,000

Net income : $22,000
Exercise 12-10A  $108,000
Exercise 12-11A  
b,
Ending finished goods inventory: $224,000
Exercise 12-12A  
b. 
Cost of goods transferred out: $200,000

Problem 12-13A 

a.
Ending balance of work in process: $6,200

d.
Net income:  $3,150

Problem 12-14A 
a.
Ending balance of cash: $12,640
d.
Cost of goods sold: $1,149
Problem 12-15A 

a.
Ending balance of Work in Process, Assembly: $23,000
d.
Net income: $16,200

Problem 12-16A 

a.
Ending balance of Work in Process, Assembly: $23,000

d.
Net income: $20,800

Problem 12-17A

a.
Total equivalent units: 6,800

b.
$60
c.
Cost of goods transferred out: $384,000

Problem 12-18A

a.
Total equivalent units: 750,000

b.
$0.14
c.
Ending inventory: $21,000
Problem 12-19A  

a.
Total equivalent units: 2,050

b.
$40
c.
Ending inventory: $12,000
Problem 12-20A

a.
Total equivalent units: 1,620
b.
$55
c.
Cost of goods transferred out: $66,000
Problem 12-21A 

a.
Total equivalent units: 192,000

Cost per equivalent unit: $1.25

Cost of goods transferred out: $225,000
Exercise 12-1B  No check figure

Exercise 12-2B  No check figure

Exercise 12-3B  No check figure

Exercise 12-4B  No check figure
Exercise 12-5B
a.
Ending balance of work-in-process inventory : $18,880
Exercise 12-6B
a. & b. Net income:   $7,700
c.
$15,700
Exercise 12-7B  Income = $36,800 

Exercise 12-8B  Contract price = $155,000
Exercise 12-9B
Cost of goods sold : $72,000

Net income : $19,000
Exercise 12-10B  $125,000

Exercise 12-11B  
c,
Ending finished goods inventory: $250,000
Exercise 12-12B  
b. 
Cost of goods transferred out: $420,000

Problem 12-13B 

a.
Ending balance of work in process: $8,850

d.
Net income:  $1,950

Problem 12-14B 
a.
Ending balance of cash: $3,604
d.
Cost of goods sold: $1,330
Problem 12-15B 

a.
Ending balance of Work in Process, Packaging: $36,400

d.
Net income: $30,900

Problem 12-16B 

a.
Ending balance of Work in Process, Processing: $16,800

d.
Net income: $115,900

Problem 12-17B
a.
Total equivalent units: 23,200

b.
$8.75
c.
Cost of goods transferred out: $175,000

Problem 12-18B
a.
Total equivalent units: 900,000

b.
$0.16
c.
Ending inventory: $32,000
Problem 12-19B  

a.
Total equivalent units: 25,500

b.
$6
c.
Ending inventory: $9,000
Problem 12-20B
a.
Total equivalent units: 36,400
b.
$7.50
c.
Cost of goods transferred out: $255,000
Problem 12-21B 

a.
Total equivalent units: 50,000

Cost per equivalent unit: $3.10

Cost of goods transferred out: $142,600
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